BBt - SEEABRE ()

X4 £ & #i| R AP X ¥ T ¥ #| T % #|FARAEH|(E2 B & K
-3.2 -7.6 -3.6 -3.8 ~1.0 -1.9 =6.7
FEX 157, 200 462, 100 159, 000 86, 600 65, 900 257, 900 14, 000
19 19 14 14 2 2 1 1 3 3] 39 39 1 1
=3.9 =3.2 =5. 1 2.5 ~1.2 -3.8
I [X. 122, 400 202, 700 106, 400 85, 800 45, 500 136, 600
14 14 7 7 4 4 1 1 1 1| 27 27
-3.1 -2.9 -3.3 -3.4 4.7 -3.2
KX 101, 600 141, 700 72, 500 72, 900 63, 800 104, 500
19 19 8 8 4 4 1 1 2 21 34 34
-3.3 =5.2 1.1 =3.2 -1.3 ~1.0 =6.7
FE T 127, 500 311, 100 103, 400 81, 800 61, 800 173, 000 14, 000
52 52 29 29| 10 10 3 3 6 6 | 100 100 1 1
=3.0 =5.7 2.7 1.1
HX 91, 400 158, 800 75, 600 119, 700
22 22 17 16 1 1 40 39
-2.8 ~1.0 2.1 =3.0
X 78, 300 103, 600 60, 700 55, 000 79, 200
7 7 3 3 1 2 21 13 12
—1. 4 =5.0 -5.2 -5.2 -1.6 -9.2
PE X 62, 700 70, 200 60, 200 62, 300 63,600 | 1,190, 000
9 9 2 2 1 1 1 1] 13 13 1 1
5.1 =5.5 2.1 =3.9
e X 67, 500 48, 500 56, 500 60, 000
6 6 2 2 6 6| 14 14
-1.6 =6.3 =5.7 -5.5 -1.9
EX 45, 700 57, 000 41, 300 47, 200 680, 500
4 4 3 3 4 41 11 11 2 2
-1.6 -3.8 2.4 -2.3
NS grs 73, 200 87, 500 47, 800 64, 400
3 3 1 1 3 3 7 7
=6.7 -9.3 7.4 =5.9
KX 14, 100 32, 300 19, 100 32, 000
8 8 3 3 11 11 1 1
=3.9 -5.8 ~1.0 =5.5 -3.3 ~1.4 6.2
YN 68, 500 120, 900 65, 500 48, 500 51, 200 79, 500 645, 800
59 59 29 28 3 2 2 21 16 16 [ 109 107 4 4
-1.7 -1.6 =0.9 1.7 -2.6 -1.7 0.0
AT 105, 000 209, 000 110, 500 58, 500 59, 900 121, 800 590, 000
18 18 8 8 2 2 1 1 5 51 34 34 1 1
-1.2 -2.6 -1.5 0.0
T 60, 500 123, 800 77, 800 170, 000
8 8 3 2 11 10 1 1
-1.2 1.1 4.7 -1.7 0.0
= =il 122, 900 204, 800 57, 000 136,900 | 1, 250, 000
8 8 4 3 2 21 14 13 1 1
=3.5 ~1.2 1.7 -1.6 ~1.2 3.7 2.7
EERCE 56, 200 79, 500 29, 000 31, 000 28, 900 52, 000 535, 000
16 16 5 5 1 1 1 1 7 71 30 30 2 2
-1.6 =0.7 -1.0 0.0
P 38, 600 100, 200 77, 100 160, 000
3 3 5 5 8 8 1 1
2.2 =3.0 2.1 =31 2.4 -1.8
B HET 56, 400 74, 100 52, 500 34, 300 59, 200 540, 000
10 10 4 4 1 1 1 1 16 16 1 1
-2.9 -2.9 -2.5 -2.3 -3.5 -2.9 -2.6
R 73, 900 99, 700 77, 500 41, 000 50, 600 75, 600 380, 000
30 29 9 8 1 1 2 2 4 4| 46 44 1 1
2.2 2.7 =3.0 -1.8 -2.3 2.5 ~1.2
AT 57, 600 74, 600 65, 600 25, 800 41, 400 55,500 | 1,150, 000
11 11 5 5 1 1 1 1 7 7| 25 25 1 1
-2.9 -3.6 -3.3 2.4 -2.9
BEHEE T 71, 500 87, 800 69, 600 43, 900 66, 800
10 10 2 2 1 1 4 4 | 17 v
2.2 -1.9 =31 =6.5 2.4 ~1.4
HITH 46, 800 82, 500 52, 800 31, 500 55,700 | 1, 080, 000
12 12 5 5 1 1 1 1 19 19 1 1
-2.3 -3.8 -3.0 =3.0 -2.8 -1.8
R 72, 200 81, 000 47, 800 40, 500 67, 300 240, 000
12 12 5 5 1 1 4 41 22 22 1 1
-1.9 2.7 -3.6 1.7 2.1 -1.8
S T 78, 500 108, 000 27, 000 55, 500 69, 000 275, 000
6 5 1 1 1 1 4 4] 12 11 1 1
-2.8 2.7 2.7 1.2 -2.9
L 43, 300 61, 000 42, 600 38, 400 45, 800
8 8 2 2 1 1 1 1 12 12
=0 2.6 -2.3
THT 57, 800 111, 000 84, 400
1 1 1 1 2 2
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=0.8 0.0 -2.2 -1.6 -1.2 -1.5
R 92, 000 120, 000 43, 500 57, 400 76, 100 128, 000
4 4 1 1 1 1 4 4] 10 10 1 1
=0.4 -3.9 6.2 -1.9 2.4 =71.0
e T 70, 500 95, 000 27, 400 37, 000 56,200 | 1,450, 000
2 2 1 1 1 1 2 2 6 6 1 1
2.4 2.7 -2.5 2.1
JrEH 44, 400 73, 300 54, 000 46, 000
8 8 4 4 12 12 1 1
2.0 2.4 2.1 -3.9
ENATIRF T 19, 600 32, 000 22, 100 490, 000
4 4 1 1 5 5 1 1
2.2 =2.0 2.1
#5011 28, 000 72, 500 39, 100
3 3 1 1 4 4
1.1 -0.9 2.0 -1. 1
FEOE 84, 600 100, 500 35, 800 79, 600
5 5 3 3 2 1] 10 9
2.1 =31 =31 -2.6 -1.5
Yo 40, 500 47,100 24, 800 40,100 | 1, 300, 000
3 3 2 2 1 1 6 6 1 1
2.3 2.4 -2.3 -3.5 -2.8 2.4 2.2
] Gl 68, 000 106, 500 65, 800 35, 300 45, 400 72, 200 607, 000
182 180 72 69| 10 10| 12 12| 45 44| 321 315 | 17 17
-2.8 -3.8 -3.3 =3.7 =3.0 =31 =3.2
G 78, 700 155, 400 82, 100 45, 100 48, 300 92, 700 587, 100
293 291 130 126 | 23 22| 17 17| 67 66 | 530 522 | 22 22
-1.4 -0.8 -1.2 -1.8
P ERT 44, 400 78, 200 55, 600 110, 000
2 2 1 1 3 3 1 1
=2.9 =0.6 2.1 =3.0
{A[ T 30, 200 50, 200 36, 800 32, 000
2 2 1 1 3 3 1 1
2.3 2.3
FA BT 21, 900 21,900
2 2 2 2
=2.9 =5.0 -3.6
FAURFHT 36, 400 57, 500 43, 400
2 2 1 1 3 3
-3.9 2.1 -3.5
FEGHEHT 41, 700 69, 000 47,100
4 4 1 1 5 5
=0.9 =0.9 =0.5 =0.8 0.0
P AT 94, 500 111, 000 90, 500 96, 600 530, 000
4 4 1 1 1 1 6 6 1 1
=0.9 0.0 =0.7
TE/KHET 114, 000 142, 000 121, 000
3 3 1 1 4 4
0.0 =0.7 =0.6 =0.3
R IRHT 113, 300 133, 000 66, 500 107, 900
3 3 1 1 1 1 5 5
2.1 -3.2 2.5 2.5
/N RT 43, 200 57, 000 35, 400 41, 000
3 3 1 1 4 4 8 8
=2.9 =2.9
2T 20, 000 20, 000
3 3 3 3
2.2 -3.2 2.5
= HmT 46, 800 49, 100 47, 600
2 2 1 1 3 3
=2.9 =3.5 =3.0
JIARAHT 14, 300 24, 500 16, 400
4 4 1 1 5 5
-3.2 2.2 -2.8
FRET 32, 800 45, 200 36, 900
2 2 1 1 3 3
2.2 2.2
HrE T 57, 300 57, 300
2 2 2 2
2.2 2.0 -1.9 2.1 -1.6
WY it 53, 000 74, 200 49, 800 56, 900 224, 000
38 38 11 11 6 6| 55 55 3 3
2.7 =3.7 -3.3 =3.7 =2.9 =3.0 =3.0
128 #t 75, 700 149, 000 82,100 45,100 48, 400 89, 300 543, 500
331 329 141 137 | 23 22| 17 17| 73 72|58 577 | 25 25
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	｢用途｣ 別　平均価格・平均変動率

